| Validate | Print Help | | | | | |
|---|---|--|---|---|--|--|
| Tender Inviting A | Authority: Staff Officer(Civil), NK Area. | | | | | |
| Name of Work:-S | Systematic maintenance of private railway track of Dakra Sidi | ng (1.00km) for | two years period under Dak | ra Project, NK Area. | | |
| | Category of Services (To Be Selected by Department) | Category of Bidder(To Be Selected by Bidder) | To Be Entered by Department | | | |
| ITC Available | Works Contract | Bidder's Status (Mandatory) | Rate of GST (in %) | GST to be Paid By Bidder (in Rs.) | GST to be Paid By CIL/Subsidiary (in Rs.) | |
| Name of the Bidder/ Bidding Firm / Company : | | | Select | 18.00 | 0.00 | 0.00 |
| | + | | PRICE SCHEDUL | · · · · · | | |
| (This BOQ templ | ate must not be modified/replaced by the bidder and the sam | e should be upl | oaded after filling the releven Name and Values or | | r is liable to be rejected f | or this tender. Bidders are allowed to enter the Bidder |
| NUMBER # | TEXT # | NUMBER # | TEXT # | NUMBER | NUMBER # | TEXT # |
| SI. No. | Item Description | Quantity | Units | Estimated Rate in Rs. P | TOTAL AMOUNT in Rs. P | TOTAL AMOUNT In Words |
| 1 | 2 | 3 | 4 | 5 | 6 | 7 |
| 1 | Maintenance of track, length upto 1.00 KM including track operation rectification of track, stone packing fixing of sleepers fitting of track where as necessary cleaning of drain & other sludge and other day to day misc works for smooth plying of rake and as per instruction of Engineer-in- charge. | 730.00 | day | 3831.80 | 2797214.00 | INR Twenty Seven Lakh Ninety Seven Thousand Two Hundred & Fourteen Only |
| 2 | Supplying and stacking at site 53 mm to 22.4 mm size stone aggregate | 15.00 | cum | 1833.05 | 27495.75 | INR Twenty Seven Thousand Four Hundred & Ninety Five and Paise Seventy Five Only |
| 3 | Trolleying new rail, PSC sleepers from client/RITES site store to the site of work by contractors transport /diplorry upto a distance of 1 Km including handling loading, unloading of materials with all lead, lift, crossing road / rly. Tracks etc complete | 20.00 | MT | 1452.78 | 29055.60 | INR Twenty Nine Thousand &Fifty Five and Paise Sixty Only |
| 4 | Trolleying rail, PSC every 0.5KM | 50.00 | MT | 199.25 | 9962.50 | INR Nine Thousand Nine Hundred & Sixty Two and Paise Fifty Only |
| 5 | Drilling holes 25mm/32mm dia as directed by engineer at site in rail (New/SH) rail section 52 kg / 90 R (New/SH) rails section | 100.00 | each | 210.74 | 21074.00 | INR Twenty One Thousand &Seventy Four Only |
| | | | | 210071 | | |
| 6 | Cuttingg rails (New/ SH) rails section inside / outside track 52kg/90 R (New/SH) rails section | 20.00 | each | 252.89 | 5057.80 | INR Five Thousand &Fifty Seven and Paise Eighty Only |
| 6 | Cuttingg rails (New/ SH) rails section inside / outside track 52kg/90 R | 20.00 200.00 | | | | INR Five Thousand &Fifty Seven and Paise Eighty Only INR Twenty Two Thousand Six Hundred Only |
| | Cuttingg rails (New/ SH) rails section inside / outside track 52kg/90 R (New/SH) rails section | | each | 252.89 | 22600.00 | |
| 7 8 9 | Cuttingg rails (New/ SH) rails section inside / outside track 52kg/90 R (New/SH) rails section Fish bolts and nuts (25mm x 140mm) RDSO Drg. No. T-1899 Alt-2 Supplying if fish plates to RDSO Drg. No. T-090 (M) Alt-5 Metal liners to RDSO Drg. No. T- 3740 | 200.00 10.00 50.00 | each nos nos nos | 252.89 113.00 3353.00 27.00 | 22600.00 33530.00 1350.00 | INR Twenty Two Thousand Six Hundred Only INR Thirty Three Thousand Five Hundred & Thirty Only INR One Thousand Three Hundred & Fifty Only |
| 7 8 9 10 | Cuttingg rails (New/ SH) rails section inside / outside track 52kg/90 R (New/SH) rails section Fish bolts and nuts (25mm x 140mm) RDSO Drg. No. T-1899 Alt-2 Supplying if fish plates to RDSO Drg. No. T-090 (M) Alt-5 Metal liners to RDSO Drg. No. T- 3740 Grooved rubber sole pad to RDSO Drg. No. T-3703 | 200.00 10.00 50.00 50.00 | each nos nos nos nos | 252.89 113.00 3353.00 27.00 46.00 | 22600.00 33530.00 1350.00 2300.00 | INR Twenty Two Thousand Six Hundred Only INR Thirty Three Thousand Five Hundred & Thirty Only INR One Thousand Three Hundred & Fifty Only INR Two Thousand Three Hundred Only |
| 7 8 9 | Cuttingg rails (New/ SH) rails section inside / outside track 52kg/90 R (New/SH) rails section Fish bolts and nuts (25mm x 140mm) RDSO Drg. No. T-1899 Alt-2 Supplying if fish plates to RDSO Drg. No. T-090 (M) Alt-5 Metal liners to RDSO Drg. No. T- 3740 Grooved rubber sole pad to RDSO Drg. No. T-3703 Anti theft MS clips for 60kg rail T/5157-58 Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in:Cement mortar 1:6 (1 cement : | 200.00 10.00 50.00 | each nos nos nos | 252.89 113.00 3353.00 27.00 | 22600.00 33530.00 1350.00 2300.00 80900.00 | INR Twenty Two Thousand Six Hundred Only INR Thirty Three Thousand Five Hundred & Thirty Only INR One Thousand Three Hundred & Fifty Only INR Two Thousand Three Hundred Only INR Eighty Thousand Nine Hundred Only INR Sixty Three Thousand Eight Hundred & Sixty Five and |
| 7 8 9 10 11 | Cuttingg rails (New/ SH) rails section inside / outside track 52kg/90 R (New/SH) rails section Fish bolts and nuts (25mm x 140mm) RDSO Drg. No. T-1899 Alt-2 Supplying if fish plates to RDSO Drg. No. T-090 (M) Alt-5 Metai liners to RDSO Drg. No. T- 3740 Grooved rubber sole pad to RDSO Drg. No. T-3703 Anti theft MS clips for 60kg rail T/5157-58 Brick work with common burnt clay F.P.S. (non modular) bricks of class | 200.00 10.00 50.00 50.00 100.00 | each nos nos nos nos nos nos | 252.89 113.00 3353.00 27.00 46.00 809.00 | 22600.00 33530.00 1350.00 2300.00 80900.00 63865.80 | INR Twenty Two Thousand Six Hundred Only INR Thirty Three Thousand Five Hundred & Thirty Only INR One Thousand Three Hundred & Fifty Only INR Two Thousand Three Hundred Only INR Eighty Thousand Nine Hundred Only |

| 15 | Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge.In cement mortar. | 34.50 | cum | 1194.45 | 41208.53 INR Forty One Thousand Two Hundred & Eight and Paise Fifty Three Only |
|----|--|---------|------|----------|--|
| 16 | 12 mm cement plaster of mix :1:6 (1 cement: 6 fine sand). | 220.00 | sqm | 217.70 | 47894.00 INR Forty Seven Thousand Eight Hundred & Ninety Four Only |
| 17 | 12 mm cement plaster finished with a floating coat of neat cement of mix :1:4 (1 cement: 4 fine sand). | 95.00 | sqm | 284.75 | 27051.25 INR Twenty Seven Thousand &Fifty One and Paise Twenty Five Only |
| 18 | 6 mm cement plaster of mix :1:3 (1 cement : 3 fine sand). | 85.00 | sqm | 195.85 | 16647.25 INR Sixteen Thousand Six Hundred & Forty Seven and Paise Twenty Five Only |
| 19 | Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead | 320.00 | sqm | 32.00 | 10240.00 INR Ten Thousand Two Hundred & Forty Only |
| 20 | Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. | 420.00 | kg | 92.55 | 38871.00 INR Thirty Eight Thousand Eight Hundred & Seventy One Only |
| 21 | Providing and fixing ISI marked flush door shutters conforming to IS : 2202 (Part I) non-decorative type, core of block board construction with frame of 1st class hard wood and well matched commercial 3pl veneering with vertical grains or cross bands and face veneers on both faces of shutters:30 mm thick including ISI marked Stainless Steel butt hinges with necessary screws. | 29.21 | sqm | 1575.70 | 46026.20 INR Forty Six Thousand &Twenty Six and Paise Twenty Only |
| 22 | Welding by gas or electric plant including transportation of plant at site etc. | 3000.00 | cm | 2.95 | 8850.00 INR Eight Thousand Eight Hundred & Fifty Only |
| 23 | Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & length (hold fast lugs or dash fastener shall be paid for separately).Sal wood. | 0.39 | cum | 90581.10 | 35326.63 INR Thirty Five Thousand Three Hundred & Twenty Six and Paise Sixty Three Only |
| 24 | Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres lead : | 20.00 | each | 218.95 | 4379.00 INR Four Thousand Three Hundred & Seventy Nine Only |
| 25 | Providing & fixing glass panes with putty and glazing clips in steel doors, windows, clerestory windows, all complete with :4.0 mm thick glass panes (weights not less than 10 kg/ sgm). | 3.20 | sqm | 800.60 | 2561.92 INR Two Thousand Five Hundred & Sixty One and Paise Ninety Two Only |
| 26 | Providing and fxing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections? appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing I paneling, C.P. brass / stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in- charge. (Glazing, paneling and dash fasteners to be paid for separately) iFor fixed portion.Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC | 183.60 | kg | 367.10 | 67399.56 INR Sixty Seven Thousand Three Hundred & Ninety Nine and Paise Fifty Six Only |
| 27 | Providing and fixing 12 mm thick prelaminated particle board flat pressed three layer or graded wood particle board conforming to 15: 12823 Grade I Type II, in panelling fixed in aluminum doors, windows shutters and partition frames with C.P. brass / stainless steel screws etc. complete as per architectural drawings and directions of engineer-in-charge.Pre- laminated particle board with decorative lamination on both sides | 15.12 | Sqm | 789.70 | 11940.26 INR Eleven Thousand Nine Hundred & Forty and Paise Twenty Six Only |
| 28 | Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge . (Cost of aluminium snap beading shall be paid in basic item):With float glass panes of 4.0 mm thickness (weight not less than 10kg/sqm). | 5.18 | sqm | 824.65 | 4274.99 INR Four Thousand Two Hundred & Seventy Four and Paiss Ninety Nine Only |
| 29 | Applying priming coats with primer of approved brand and manufacture, having tow VOC (Volatile Organic Compound) content. With water thinnable cement primer on wall surface having VOC content less than 50 grams/litre. | 500.00 | sqm | 46.50 | 23250.00 INR Twenty Three Thousand Two Hundred & Fifty Only |
| 30 | Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete. | 220.00 | sqm | 98.45 | 21659.00 INR Twenty One Thousand Six Hundred & Fifty Nine Only |
| 31 | Distempering with 1st quality acrylic distemper (ready mixed) having VOC (Volatile Organic Compound) content less than 50 gram/ litre, of approved brand and of required said and colour complete to give and even said.Old work (one or more coats). | 850.00 | sqm | 38.55 | 32767.50 INR Thirty Two Thousand Seven Hundred & Sixty Seven an Paise Fifty Only |
| 32 | What the or more coarst. Finishing walls with water proofing cement paint of required shade :Old work (one or more coats applied @ 2.20 kg/10 sqm) over priming coat of primer applied @ 0.80 litrs/10 sqm complete including cost of Priming coat. | 560.00 | sqm | 72.30 | 40488.00 INR Forty Thousand Four Hundred & Eighty Eight Only |
| 33 | Finishing walls with Acrylic Smooth exterior paint of required shade:Old work (Two or more coat applied @ 1.67 Itil 10 sqm) on existing cement paint surface. | 350.00 | Sqm | 87.55 | 30642.50 INR Thirty Thousand Six Hundred & Forty Two and Paise Fifty Only |

| 34 | Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade :One or more coats on old work. | 220.00 | sqm | 65.65 | 14443.00 INR Fourteen Thousand Four Hundred & Forty Three Only |
|----|---|---------|-------|---------|--|
| 35 | Providing and fixing aluminium extruded section body tubular type universal hydraulic door closer (having brand logo with ISi, IS : 3564, embossed on the body, door weight upto 36 kg to 80 kg and door width from 701 mm to 1000 mm), with double speed adjustment with necessary accessories and screws etc. complete. | 10.00 | each | 731.30 | 7313.00 INR Seven Thousand Three Hundred & Thirteen Only |
| 36 | Providing and fixing bright finished brass hanging type floor door stopper | 10.00 | each | 95.00 | 950.00 INR Nine Hundred & Fifty Only |
| 37 | with necessary screws, etc. complete. Providing and fixing aluminium sliding door bolts, ISI marked anodised (anodic coating not less than grade AC 10 as per IS : 1868), transparent or dyed to required colour or shade, with nuts and screws etc. complete : 250X16 | 10.00 | each | 201.00 | 2010.00 INR Two Thousand &Ten Only |
| 38 | Providing and fixing aluminium tower bolts, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete :150X10MM | 10.00 | each | 65.10 | 651.00 INR Six Hundred & Fifty One Only |
| 39 | Providing and fixing ISI marked oxidised M.S. handles conforming to IS:4992 with necessary screws etc. complete : (copper oxidized as per IS: 1378). 125MM | 10.00 | each | 29.85 | 298.50 INR Two Hundred & Ninety Eight and Paise Fifty Only |
| 40 | Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level 1:14:8 (I Cement : 4 coarse sand (zone-III) derived from natural sources : 8 graded stone aggregate 40 mm nominal size derived from natural sources). | 18.00 | cum | 5167.75 | 93019.50 INR Ninety Three Thousand & Nineteen and Paise Fifty Only |
| 41 | Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level 1:12:4 (1 Cement : 2 coarse sand (zone-111) derived from natural sources : 4 graded stone aggregate 20 mm nominal size derived from natural sources): | 22.00 | cum | 6490.90 | 142799.80 INR One Lakh Forty Two Thousand Seven Hundred & Ninety Nine and Paise Eighty Only |
| 42 | Similes: Providing and laying Vitrified tiles in floor with different sizes (thickness to be specified by the manufacturer), with water absorption less than 0.08% and conforming to IS:15622, of approved brand & manufacturer, in all colours and shade, laid with cement based high polymer modified quick set tile adhesive (water based) conforming to IS: 15477, in average 6 mm thickness, including grouting of joints (Payment for grouting of joints to be made separately).Size of Tile 600x600 mm. | 30.00 | Sqm | 1265.90 | 37977.00 INR Thirty Seven Thousand Nine Hundred & Seventy Seven Only |
| 43 | Providing and placing on terrace (at all floor levels) polyethylene water storage tank, IS : 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank. | 3000.00 | litre | 8.40 | 25200.00 INR Twenty Five Thousand Two Hundred Only |
| 44 | Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge. Internal work - Exposed on wall 25 mm nominal dia Pipes. | 50.00 | Metre | 331.50 | 16575.00 INR Sixteen Thousand Five Hundred & Seventy Five Only |
| 45 | Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge. Internal work - Exposed on wall 20 mm nominal dia Pipes. | 50.00 | Metre | 259.05 | 12952.50 INR Twelve Thousand Nine Hundred & Fifty Two and Paise Fifty Only |
| 46 | Providing and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc. External work 25mm nominal dia pipes. | 50.00 | Metre | 339.70 | 16985.00 INR Sixteen Thousand Nine Hundred & Eighty Five Only |
| 47 | Providing and fixing ball valve (brass) of approved quality, High or low pressure, with plastic floats complete :20 mm nominal bore | 10.00 | each | 345.00 | 3450.00 INR Three Thousand Four Hundred & Fifty Only |
| 48 | Providing and fixing ball valve (brass) of approved quality, High or low pressure, with plastic floats complete :25 mm nominal bore | 10.00 | each | 346.55 | 3465.50 INR Three Thousand Four Hundred & Sixty Five and Paise Fifty Only |
| 49 | Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 :15 mm nominal bore. | 15.00 | each | 376.95 | 5654.25 INR Five Thousand Six Hundred & Fifty Four and Paise Twenty Five Only |
| 50 | Providing and fixing brass stop cock of approved quality :15 mm nominal bore. | 15.00 | each | 263.75 | 3956.25 INR Three Thousand Nine Hundred & Fifty Six and Paise Twenty Five Only |
| 51 | Providing and fixing P.V.C. low level flushing cistern with manually controlled device (handle lever) conforming to IS : 7231, with all fittings and fixtures complete. 10 litre capacity –White | 10.00 | each | 863.00 | 8630.00 INR Eight Thousand Six Hundred & Thirty Only |
| 52 | Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete. Flexible pipe 32 mm dia. | 10.00 | each | 90.60 | 906.00 INR Nine Hundred & Six Only |
| 53 | Providing and fixing unplasticised PVC connection pipe with brass unions: 45 cm length 15 mm nominal bore. | 30.00 | each | 73.95 | 2218.50 INR Two Thousand Two Hundred & Eighteen and Paise Fift Only |
| 54 | Providing and fixing PTMT pillar cock of approved quality and colour.15 mm nominal bore, 107 mm long, weighing not less than 110 gms. | 10.00 | each | 156.95 | 1569.50 INR One Thousand Five Hundred & Sixty Nine and Paise Fifty Only |

| 55 | Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931.15mm nominal bore. | 20.00 | each | 434.40 | 8688.00 INR Eight Thousand Six Hundred & Eighty Eight Only |
|----|--|--------|---------|---------|--|
| 56 | Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brasspillar taps, 32 mm C.P. brass waste of standard pattern, includingpainting of fittings and brackets, cutting and making good the wallswherever require: White Vitreous China Flat back wash basin size 550x400 mm with single 15 mm C.P. brass pillar tap. | 2.00 | each | 1458.10 | 2916.20 INR Two Thousand Nine Hundred & Sixteen and Paise Twenty Only |
| 57 | Providing and fixing white vitreous china water closet squatting pan (Indian type) :Orissa pattern W.C. pan of size 580x440 mm. | 2.00 | each | 2294.00 | 4588.00 INR Four Thousand Five Hundred & Eighty Eight Only |
| 58 | Providing and fixing white vitreous china pedestal type (European type/ wash down type) water closet pan. | 2.00 | each | 1986.20 | 3972.40 INR Three Thousand Nine Hundred & Seventy Two an Paise Forty Only |
| 59 | Providing and laying Ceramic glazed floor tiles of size 300x300 mm (thickness to be specified by the manufacturer) of 1st quality conforming to 15 : 15622 of approved make in colours such as White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick cement mortar 1:4 (1 Cement : 4 Coarse sand), Jointing with grey cement slurry @ 3.3 kg/sqm including pointing the joints with white cement and matching pigment etc., complete. | 20.00 | Sqm | 762.80 | 15256.00 INR Fifteen Thousand Two Hundred & Fifty Six Only |
| 60 | Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slury @ 3.3K gper sqm, including pointing in white cement mixed with pigment of matching shade complete. | 35.00 | Sqm | 871.30 | 30495.50 INR Thirty Thousand Four Hundred & Ninety Five and Fifty Only |
| 61 | Providing and fixing 18 mm thick gang saw cut, mirror polished, premoulded and prepolished, machine cut for kitchen platforms, vanity counters, window sills, facias and similar locations of required size, approved shade, colour and texture laid over 20 mm thick base cement mortar 1:4 (1 cement : 4 coarse sand), joints treated with white cement, mixed with matching pigment, epoxy touch ups, including rubbing, curing, moulding and polishing of edges to give high gloss finish etc. complete at all levels.Granite stone slab of colour black, Cherry/Ruby red.Area of slab over 0.50 sgm. | 5.58 | Sqm | 3701.15 | 20652.42 INR Twenty Thousand Six Hundred & Fifty Two and P Forty Two Only |
| 62 | Providing and fixing 18 mm thick gang saw cut, mirror polished, premoulded and prepolished, machine cut for kitchen platforms, vanity counters, window sills, facias and similar locations of required size, approved shade, colour and texture laid over 20 mm thick base cement mortar 1:4 (1 cement : 4 coarse sand), joints treated with white cement, mixed with matching pigment, epoxy touch ups, including rubbing, curing, moulding and polishing of edges to give high gloss finish etc. complete at all levels.Raj Nagar Plain white marble/ Udaipur green marble/ Zebra black marble.Area of slab over 0.50 sqm. | 5.58 | Sqm | 2150.80 | 12001.46 INR Twelve Thousand &One and Paise Forty Six Only |
| 63 | Painting top of roofs with bitumen of approved quality @ 17kg per 10 sqm impregnated with a coat of coarse sand at 60 cudm per 10 sqm, including cleaning the slab surface with brushes and finally with a piece of cloth lightly soaked in kerosene oil complete :With residual type petroleum bitumen of grade VG -10. | 150.00 | Sqm | 103.50 | 15525.00 INR Fifteen Thousand Five Hundred & Twenty Five Or |
| 64 | Supplying and stacking at site.Moorum. | 37.5 | cum | 771.15 | 28918.13 INR Twenty Eight Thousand Nine Hundred & Eighteen Paise Twelve Only |
| 65 | Spreading and levelling of moorum as per requirements as in instruction by E/I. | 37.5 | cum | 327.06 | 12264.75 INR Twelve Thousand Two Hundred & Sixty Four and Seventy Five Only |
| 66 | Supply of Satna Lime | 5.0 | quintal | 425.50 | 2127.50 INR Two Thousand One Hundred & Twenty Seven and Fifty Only |
| 67 | (TREE PLANTS) Providing and stacking of Azadirachta indica (Neem) of height 120-130cm in big polybag of size 25 cm as per direction of the | 10.0 | each | 65.00 | 650.00 INR Six Hundred & Fifty Only |
| 68 | officer-in-charge. Providing and stacking of Bottle palm of ht. 150-180 cm bottom girth 20- 25 cm well developed in big poly bags of size 25 cm as per direction of the | 10.0 | each | 180.00 | 1800.00 INR One Thousand Eight Hundred Only |
| 69 | officer-in-charge. Providing and stacking of Fishtail palm of ht. 150-180 cm bottom girth 15- 20 cm well developed in big poly bags of size 25 cm as per direction of the | 10.0 | each | 200.00 | 2000.00 INR Two Thousand Only |
| 70 | officer-in-charge. Providing and stacking of Mangifera indica (Mango-grafted) of height 60- 75 cm. in big poly bag of size 25 cm as per direction of the officer-in- | 10.0 | each | 55.00 | 550.00 INR Five Hundred & Fifty Only |
| 71 | Charge. Providing and stacking of Michelia champa (Golden Champa) of height 90- 105 cm. in earthen pots of size 25 cm as per direction of the officer-in- | 10.0 | each | 90.00 | 900.00 INR Nine Hundred Only |
| 72 | charge. Providing and stacking of Phyllanthus emblica (Amla) of height 150-165 cm. in Big HDPE Bag as per direction of the officer-in-charge. | 10.0 | each | 90.00 | 900.00 INR Nine Hundred Only |
| 73 | Providing and stacking of Pinus longifolia (Pinus) of height 90-105 cm. in cement pots of size 35 cm as per direction of the officer-in-charge. | 10.0 | each | 550.00 | 5500.00 INR Five Thousand Five Hundred Only |

| Quoted Rate in W | /ords | INR Zero Only | | | | |
|------------------------|--|---------------|--------------------------|--------|----------|--|
| Quoted Rate in Figures | | | Select | | 0.00 | INR Zero Only |
| Total in Figures | | | | | | INR Forty Four Lakh Twenty Five Thousand Three Hundred & Seventy and Paise Nineteen Only |
| 87 | Total impact of GST for the purpose of CTC | 1.000 | Nos | 0.00 | | INR Zero Only |
| 86 | Providing and fixing on wall face unplasticised - PVC moulded fittings/ accessories for unplasticised Rigid PVC rain water pipes conforming to IS : 13592 Type A, including jointing with seal ring conforming to IS : 5382, leaving 10 mm gap for thermal expansion.Bend 87.5'. 110 mm bend. | 10.00 | Metre | 114.60 | | INR One Thousand One Hundred & Forty Six Only |
| 85 | Providing and fixing on wall face unplasticised - PVC moulded fittings/ accessories for unplasticised Rigid PVC rain water pipes conforming to IS : 13592 Type A, including jointing with seal ring conforming to IS : 5382, leaving 10 mm gap for thermal expansion.Bend 87.5'. 75 mm bend. | 10.00 | Metre | 79.70 | 797.00 | INR Seven Hundred & Ninety Seven Only |
| 84 | Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS : 13592 Type A, including jointing with seal ring conforming to IS : 5382, leaving 10 mm gap for thermal expansion, (I) Single socketed pipes.110mm diameter | 30.00 | Metre | 262.40 | 7872.00 | INR Seven Thousand Eight Hundred & Seventy One and Paise One Hundred Only |
| 83 | Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS : 13592 Type A, including jointing with seal ring conforming to IS : 5382, leaving 10 nm gap for thermal expansion, (I) Single socketed pipes.75 mm diameter | 30.00 | Metre | 172.65 | 5179.50 | INR Five Thousand One Hundred & Seventy Nine and Paise Fifty Only |
| 82 | Finishing with Epoxy paint (two or more coats) at all locations prepared and applied as per manufacturer's specifications including appropriate priming coat, preparation of surface, etc. complete.On concrete work. | 100.00 | sqm | 151.40 | 15140.00 | INR Fifteen Thousand One Hundred & Forty Only |
| 81 | Lettering with black Japan paint of approved brand and manufacture | 3000.00 | per letter per cm height | 3.70 | 11100.00 | INR Eleven Thousand One Hundred Only |
| 80 | Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including getting out and disposal of excavated earth lead upto 50 m and for all lift, as directed by Engineer-in- charee.All kinds of soil | 150.00 | cum | 128.05 | 19207.50 | INR Nineteen Thousand Two Hundred & Seven and Paise Fifty Only |
| 79 | Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, for all lift, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil. | 85.00 | cum | 188.45 | | INR Sixteen Thousand & Eighteen and Paise Twenty Five Only |
| 78 | Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. | 300.00 | kg | 77.95 | | INR Twenty Three Thousand Three Hundred & Eighty Five Only |
| 77 | Providing and stacking of Tectona grandis (Teak) of height 150-165 cm. in big polybags of size 25 cm as per direction of the officer-in-charge. | 10.0 | each | 110.00 | 1100.00 | INR One Thousand One Hundred Only |
| 76 | Providing and stacking of Tamarindus indica (Imli) of height 120-150 cm. in big polybags of size 25 cm as per direction of the officer-in-charge. | 10.0 | each | 80.00 | 800.00 | INR Eight Hundred Only |
| 75 | Providing and stacking of Eugenia jambolana (Jamun) of height 150-165 cm. in big poly bags of size 25 cm as per direction of the officer-in-charge. Fach | 10.0 | each | 75.00 | 750.00 | INR Seven Hundred & Fifty Only |
| 74 | Providing and stacking of Schleichera trijuga (Kusum) of height 150-165 cm. in big poly bags of size 25 cm as per direction of the officer-in-charge. | 10.0 | each | 70.00 | 700.00 | INR Seven Hundred Only |